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P3 (plot by DAT)

80

60

Days After Transplant

40

20

o Bt
| 1
| 1
_ 1
v e
T,
N %
_ X “
L
T R
pioe iy
5 -
[ % | I
o o0 ol |
| 15 ”---e ____ -
1 “w r.* 1
“ g - b
— —
..... _......Ho.-“._m.-------Io.-ln--L“i----------
S S
| [N - o 1 I
| e 1
“ .ﬁ 1 1
! )y —
1 [ | =——— :
1 -@ 1
| ! I
1 ! I
IIIIIIIII [ | 1
‘¢ TR
1 I o 1
_I.* _I%II
? Z 4 |||||| O
-0 1
1 I o
1 I
1 o
1 IS
1 I c
_||||0“ <
|- ©
1
1
1
1
1
1 o
1 c
1 S
1 o
b o @
s : & & & G

Buippng a1y sAeqg



P3 TsN1 (plot by DAT)
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P3 TsN2 (plot by DAT)
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P3 TsN3 (plot by DAT)
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P3 TsN4 (plot by DAT)
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P3 TsN5 (plot by DAT)
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P3 TsN6 (plot by DAT)
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P3 (plot by adjDAT)

® ‘ L )
i 1 ]
| T |
S
- TV e
4 “ ] I .ﬂ
I ! ! -9 |
I ! ! | 1
10 I ! I 1
1 “ “ I I
- ] “ |
RS O I S JRA
1 | ... I
“| “ IIIIIII @ _I. |
..... T W X Sy
1 5 [ ] [
_Illl.‘_ = 1 1
I " L.
X ¢ T
T .
| ST
I -9 '---9!
“ .* 1 “.IIII..
| -9 !
1 1 |
“ " _
......... o oL
P P
o
* 3
s B
1 IO
1 1 S
-
||I‘_
— Lo e o o o |.
1
1
1
1
1
| o
1 £
1 S
1 ©
_ @
|||||||| °
o o o o o o
Te] < m N —

Buippng Jayy sAeq

90

80

70

60

50

40

30

20

10

Days After Transplant



P3 TsN1 (plot by adjDAT)
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P3 TsN2 (plot by adjDAT)
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P3 TsN3 (plot by adjDAT)
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P3 TsN4 (plot by adjDAT)
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P3 TsN5 (plot by adjDAT)
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P3 TsN6 (plot by adjDAT)
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Plot ['sfDemFrV']
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